MODELE/MODEL
6000 -4R -6R

ARVIKA.caA

|-888-690-0096
1125 ROUTE EDOUARD VI, SAINT-PHILIPPE



ARVIKA MARKETING
PART LIST : 6000-4R - 6R

| QTE. | PART NUMBER

4 | ROUND HEAD SQUARE NECK
BOLTS ISTEP BOLTSI 5/16 x
|-1/4

PLAIN WASHERS TYPE A
S/ 6W

HEXAGONAL NUTS 5/16

ROUND HEAD SQUARE NECK
BOLTS ISTEP BOLTS! 1/4 x |

PLAIN WASHERS TYPE A 1/4W
HEXAGONAL NUTS 1/4

BOUCHON GOUTTIERE
ALUMINIUM

PLATE 4875 X 2

ECROU BORGNE / NUT CAP
5/16




